

Boundedness for iterated commutators on the mixed norm spaces [☆]

Yongmin Liu ^{a,*}, Zhangjian Hu ^b

^a *Department of Mathematics, Xuzhou Normal University, Xuzhou 221116, PR China*

^b *Department of Mathematics, Huzhou Teachers College, Huzhou 313000, PR China*

Received 1 March 2006

Available online 28 November 2006

Submitted by E.J. Straube

Abstract

This paper studies the iterated commutators on mixed norm spaces $L^2(\phi)$ characterizing the conjugate holomorphic symbols for which the corresponding iterated commutators are bounded by using the Bergman geometry, properties of holomorphic functions and related analysis.

© 2006 Elsevier Inc. All rights reserved.

Keywords: Mixed norm spaces; Iterated commutator; Normal function; Boundedness

1. Introduction

Let dV be the Lebesgue measure on the unit ball B of C^m normalized so that $V(B) = 1$, and $d\sigma$ be the normalized rotation invariant measure on the boundary ∂B of B so that $\sigma(\partial B) = 1$. The class of all holomorphic functions on B is denoted by $H(B)$ and $H^\infty(B)$ denotes the class as all bounded holomorphic functions on B . Let ϕ be a positive continuous function on $[0, 1)$. ϕ is called a normal function if there are two constants a and b : $0 < a < b$ such that

$$\frac{\phi(t)}{(1-t^2)^a} \text{ decreases for } t_0 \leq t < 1 \text{ and } \lim_{t \rightarrow 1^-} \frac{\phi(t)}{(1-t^2)^a} = 0,$$

[☆] Supported by the Natural Science Foundation of China (10471039) and the Natural Science Foundation of the Education Commission of Jiangsu Province of China (03KJD140210, 06KJD110175).

* Corresponding author.

E-mail addresses: minliu@xznu.edu.cn (Y. Liu), huzj@hutczj.cn (Z. Hu).

$$\frac{\phi(t)}{(1-t^2)^b} \text{ increases for } t_0 \leq t < 1 \text{ and } \lim_{t \rightarrow 1^-} \frac{\phi(t)}{(1-t^2)^b} = \infty.$$

Throughout this paper, we always suppose that $\{\phi, \psi\}$ is a normal pair, that is $\psi(t) = \frac{(1-t^2)^\alpha}{\phi(t)}$ for some $\alpha > b$. We will also need the following measure

$$dV_\phi(z) = \frac{\phi^2(|z|)}{1-|z|^2} dV(z), \quad z \in B.$$

Let $L^2(\phi)$ denote the space of all locally L^2 integrable functions f on B such that

$$\|f\|_\phi = \left\{ \int_B |f(z)|^2 dV_\phi(z) \right\}^{1/2} < \infty.$$

Let $A^2(\phi) = L^2(\phi) \cap H(B)$. Suppose $w \in B$, α is the constant mentioned in the above, and

$$k_w^{\alpha,m}(z) = \frac{1}{(1-\bar{w}z)^{\alpha+m}}, \quad \forall z \in B.$$

Then the linear operator P is defined as follows:

$$(Pf)(w) = c_{m,\alpha} \int_B f(z) \overline{k_w^{\alpha,m}(z)} (1-|z|^2)^{\alpha-1} dV(z), \quad f \in L^2(\phi) \cap L^2(\psi),$$

where $c_{m,\alpha} = \frac{\Gamma(m+\alpha)}{\Gamma(\alpha)\Gamma(m+1)}$.

We note that [1] the operator P is bounded from both $L^2(\phi)$ onto $A^2(\phi)$ and $L^2(\psi)$ onto $A^2(\psi) = L^2(\psi) \cap H(B)$. Moreover $(Pf)(w) = f(w)$ for $f \in A^2(\phi) \cap A^2(\psi)$. Given a measurable function b on B , the multiplication operator M_b is defined by $M_b(f) = bf$. X.J. Zhang, J.B. Xiao, and Z.J. Hu in [2] characterized the multiplication operator M_b between the mixed spaces. The commutator (first order) with symbol b is the operator defined by $C_b = [M_b, P] = M_b P - P M_b$, the Hankel operator H_b with symbol b is given by

$$H_b(f) = (I - P)(bf), \quad f \in A^2(\phi),$$

we have $C_b = H_b$ on $A^2(\phi)$. And therefore, the study of the first order commutators is parallel to that of the Hankel operators. We refer the reader to [3–5] for results along this line. Let b_j be a measurable function, $j = 1, 2, \dots, n$, if $b = (b_1, b_2, \dots, b_n)$, define the n th order iterated commutator with symbol b by

$$C_b = [M_{b_n}, \dots, [M_{b_2}, [M_{b_1}, P]] \dots].$$

Unlike the commutators, the iterated commutators are no longer depending linearly on their symbols. Therefore most of the techniques used successfully in studying the first order commutators fail to work effectively for the n th order iterated commutators.

A straightforward computation shows that the explicit formula for C_b is

$$C_b(f)(w) = c_{m,\alpha} \int_B \prod_{j=1}^n (b_j(w) - b_j(z)) \overline{k_w^{\alpha,m}(z)} (1-|z|^2)^{\alpha-1} f(z) dV(z), \quad (1)$$

$\forall f \in L^\infty$. Because L^∞ is dense in $L^2(\phi)$, we take (1) as the definition of the iterated commutator C_b on $L^2(\phi)$, if $b_j \in H(D)$, $j = 1, 2, \dots, n$, we have the following identity

$$C_b(k_z^{\alpha,m})(w) = \prod_{j=1}^n (\overline{b_j(w)} - \overline{b_j(z)}) k_z^{\alpha,m}(w), \quad (2)$$

if $b_1 = b_2 = \dots = b_n = h$, we write $C_b = C_h^n$, then

$$C_h^n(f)(w) = c_{m,\alpha} \int_B (h(w) - h(z))^n \overline{k_w^{\alpha,m}(z)} (1 - |z|^2)^{\alpha-1} f(z) dV(z), \quad (3)$$

$$C_h^n(k_z^{\alpha,m})(w) = (\bar{h}(w) - \bar{h}(z))^n k_z^{\alpha,m}(w). \quad (4)$$

The main result of this paper is Theorem 9 stated below as Theorem.

Theorem. Suppose $h \in H(B)$. Then, C_h^n is bounded on $L^2(\phi)$ if and only if $h \in \mathcal{B}$.

Corollary. Suppose $h \in H(B)$. Then C_h^n is bounded on $L^2(dV_\lambda)$ if and only if $h \in \mathcal{B}$, where $dV_\lambda(z) = C_\lambda(1 - |z|^2)^\lambda dV(z)$, $\lambda > -1$.

Proof. In Theorem, take $\phi(t) = C_\lambda^{1/2}(1 - t^2)^{(\lambda+1)/2}$, we have

$$dV_\phi(z) = \frac{\phi^2(|z|)}{1 - |z|^2} dV(z) = C_\lambda(1 - |z|^2)^\lambda dV(z) = dV_\lambda(z).$$

It is easy to see that the corollary holds. \square

Thus the Theorem is a generalization of Theorem 3.3 in [6]. In particular, the Theorem partially answers a question posed at the end of [6], $L^2(\phi)$ is more general than $L^2(dV_\lambda)$. We still do not know how to characterize the antiholomorphic symbols $b = (b_1, b_2, \dots, b_n)$ such that the iterated commutator C_b is bounded.

We will use the symbol C denote a positive constant which does not depend on variables z, w and may depend on some parameters, not necessarily the same at each occurrence.

2. Preliminaries

We begin with the following quantity which was introduced by R.M. Timoney [7] in order to give a definition of the Bloch semi-norm that is invariant under biholomorphic mappings.

$$Q_f(z) = \sup \left\{ \frac{|\sum_{k=1}^m w_k \frac{\partial f}{\partial z_k}(z)|}{\sqrt{\langle B(z)w, w \rangle}} : w \in C^m, w \neq 0 \right\}.$$

Here

$$B(z) = \frac{1}{m+1} \left(\frac{\partial^2}{\partial \bar{z}_i \partial z_j} \log K(z, z) \right)_{m \times m}$$

is the Bergman matrix at z and

$$K(z, w) = \frac{1}{(1 - \langle z, w \rangle)^{m+1}}$$

is the Bergman kernel of B . The Bloch space \mathcal{B} (introduced by R.M. Timoney, [7]) is the set of holomorphic functions f on B for which

$$\|f\|_{\mathcal{B}} = \sup \{Q_f(z) : z \in B\} < \infty.$$

R.M. Timoney has proved that the norms $\|f\|_1 = \sup \{(1 - |z|^2)|\nabla f(z)| : z \in B\}$ and $\|f\|_{\mathcal{B}}$ are equivalent, where $\nabla f(z) = (\frac{\partial f}{\partial z_1}(z), \frac{\partial f}{\partial z_2}(z), \dots, \frac{\partial f}{\partial z_n}(z))$ is the complex gradient of f .

Lemma 1. [7] If $h \in \mathcal{B}$, then there exists a constant C such that

$$|h(z) - h(w)| \leq C \|h\|_{\mathcal{B}} \beta(z, w), \quad \forall z, w \in B,$$

where $\beta(z, w)$ is Bergman metric on B , which is Möbius invariant.

We recall the Forelli–Rudin estimate.

Lemma 2. [8] Suppose $z \in B$, c is real, $t > -1$ and

$$I_{c,t}(z) = \int_B \frac{(1 - |w|^2)^t}{|1 - z\bar{w}|^{m+1+t+c}} dV(w).$$

Then as $|z| \rightarrow 1^-$ we have

$$I_{c,t}(z) \sim \frac{1}{(1 - |z|^2)^c}$$

for $c > 0$, and

$$I_{c,t}(z) \sim \log \frac{1}{1 - |z|^2}$$

for $c = 0$, and

$$I_{c,t}(z) \sim 1$$

for $c < 0$.

Lemma 3. [9] Suppose $\lambda \in B$, $p \in (0, \infty)$, and $r \in (0, 1)$. Then there exist constants C_i ($i = 1, 2$) depending only on a, b, p, r and m such that

$$C_1(1 - |\lambda|^2)^m \phi^p(|\lambda|) \leq V_\phi^p(D(\lambda, r)) \leq C_2(1 - |\lambda|^2)^m \phi^p(|\lambda|),$$

where $D(\lambda, r) = \{z \in B: |\rho_\lambda(z)| < r\}$ is the pseudohyperbolic ball with center λ and radius r , ρ_λ denotes the involutive automorphism of B satisfying $\rho_\lambda(0) = \lambda$, $\rho_\lambda(\lambda) = 0$.

If $\tau \in D(\lambda, r)$, then [2]

$$1 - |\tau| \sim 1 - |\lambda|, \quad 1 - |\tau|^2 \sim 1 - |\lambda|^2, \quad |1 - \tau\bar{\lambda}| \sim 1 - |\lambda|^2,$$

thus, by the definition of normal function, we have $\phi(|\tau|) \sim \phi(|\lambda|)$, and

$$\frac{(1 - |\lambda|^2)^{m+1}}{|1 - \tau\bar{\lambda}|^{2m+2}} dV(\tau) \leq \frac{C}{V_\phi^p(D(\lambda, r))} \frac{\phi^p(|\tau|)}{1 - |\tau|^2} dV(\tau). \quad (5)$$

The following results give a new characterization of Bloch space \mathcal{B} .

Lemma 4. Let $h \in H(B)$, $1 < p < \infty$. Then $h \in \mathcal{B}$ if and only if

$$\sup_{\lambda \in B} \left\{ \int_B |(h \circ \rho_\lambda)(z) - h(\lambda)|^p \frac{\phi^p(|z|)}{1 - |z|^2} dV(z) \right\}^{1/p} < \infty.$$

Proof. Assume that $h \in \mathcal{B}$. By Lemma 1, there exists a constant C such that

$$|h(z) - h(w)| \leq C \|h\|_{\mathcal{B}} \beta(z, w), \quad \forall z, w \in B.$$

Since the following explicit formula for the Bergman distance:

$$\beta(0, z) = \left(\frac{m+1}{8} \right)^{1/2} \log \frac{1+|z|}{1-|z|},$$

the Möbius invariance property of the Bloch space implies

$$\|h\|_{\mathcal{B}} = \|(h \circ \rho_{\lambda})(z) - h(\lambda)\|_{\mathcal{B}},$$

so

$$|(h \circ \rho_{\lambda})(z) - h(\lambda)| \leq C \|h\|_{\mathcal{B}} \log \frac{1}{1-|z|},$$

this gives

$$\begin{aligned} & \int_B |(h \circ \rho_{\lambda})(z) - h(\lambda)|^p \frac{\phi^p(|z|)}{1-|z|^2} dV(z) \\ & \leq C \|h\|_{\mathcal{B}}^p \int_B \left(\log \frac{1}{1-|z|} \right)^p \frac{\phi^p(|z|)}{1-|z|^2} dV(z) \\ & \leq C \|h\|_{\mathcal{B}}^p \int_0^1 \left(\log \frac{1}{1-r} \right)^p (1-r^2)^{ap-1} r^{2m-1} dr \\ & \leq C \|h\|_{\mathcal{B}}^p. \end{aligned}$$

On the other hand, writing $V_{\phi}^p(D(\lambda, r)) = \int_{D(\lambda, r)} \frac{\phi^p(|w|)}{1-|w|^2} dV(w)$, and

$$\hat{h}_{D(\lambda, r)} = \frac{1}{V_{\phi}^p(D(\lambda, r))} \int_{D(\lambda, r)} h(w) \frac{\phi^p(|w|)}{1-|w|^2} dV(w),$$

we obtain

$$\begin{aligned} & |h(\lambda) - \hat{h}_{D(\lambda, r)}| \\ & \leq \frac{1}{V_{\phi}^p(D(\lambda, r))} \int_{D(\lambda, r)} |h(w) - h(\lambda)| \frac{\phi^p(|w|)}{1-|w|^2} dV(w) \\ & \leq \left(\frac{1}{V_{\phi}^p(D(\lambda, r))} \int_{D(\lambda, r)} |h(w) - h(\lambda)|^p \frac{\phi^p(|w|)}{1-|w|^2} dV(w) \right)^{1/p}. \end{aligned}$$

By the triangle inequality for the L^p integral,

$$\begin{aligned} & \left(\frac{1}{V_{\phi}^p(D(\lambda, r))} \int_{D(\lambda, r)} |h(z) - \hat{h}_{D(\lambda, r)}|^p \frac{\phi^p(|z|)}{1-|z|^2} dV(z) \right)^{1/p} \\ & \leq 2 \left(\frac{1}{V_{\phi}^p(D(\lambda, r))} \int_{D(\lambda, r)} |h(z) - h(\lambda)|^p \frac{\phi^p(|z|)}{1-|z|^2} dV(z) \right)^{1/p}. \end{aligned} \tag{6}$$

Note the identity

$$1 - |\rho_\lambda(w)|^2 = \frac{(1 - |\lambda|^2)(1 - |w|^2)}{|1 - w\bar{\lambda}|^2}$$

and

$$dV(\rho_\lambda(w)) = \frac{(1 - |\lambda|^2)^{m+1}}{|1 - w\bar{\lambda}|^{2m+2}} dV(w).$$

By the monotonicity of ϕ and Lemma 3, we get that

$$\begin{aligned} & \frac{1}{V_\phi^p(D(\lambda, r))} \int_{D(\lambda, r)} |h(z) - h(\lambda)|^p \frac{\phi^p(|z|)}{1 - |z|^2} dV(z) \\ & \leq \frac{C}{V_\phi^p(D(\lambda, r))} \int_{D(\lambda, r)} |h(z) - h(\lambda)|^p \frac{\phi^p(|\lambda|)}{1 - |\lambda|^2} dV(z) \\ & = \frac{C\phi^p(|\lambda|)}{V_\phi^p(D(\lambda, r))} \int_{D(0, r)} |(h \circ \rho_\lambda)(w) - h(\lambda)|^p \frac{1}{1 - |\rho_\lambda(w)|^2} \frac{(1 - |\lambda|^2)^{m+1}}{|1 - w\bar{\lambda}|^{2m+2}} dV(w) \\ & = \frac{C(1 - |\lambda|^2)^m \phi^p(|\lambda|)}{V_\phi^p(D(\lambda, r))} \int_{D(0, r)} |(h \circ \rho_\lambda)(w) - h(\lambda)|^p \frac{1}{(1 - |w|^2)|1 - w\bar{\lambda}|^{2m}} dV(w) \\ & \leq C \int_{D(0, r)} |(h \circ \rho_\lambda)(w) - h(\lambda)|^p \frac{\phi^p(|w|)}{1 - |w|^2} dV(w) \\ & \leq C \int_B |(h \circ \rho_\lambda)(w) - h(\lambda)|^p \frac{\phi^p(|w|)}{1 - |w|^2} dV(w). \end{aligned} \quad (7)$$

From (6) and (7), we further have

$$\begin{aligned} & \frac{1}{V_\phi^p(D(\lambda, r))} \int_{D(\lambda, r)} |h(z) - \hat{h}_{D(\lambda, r)}|^p \frac{\phi^p(|z|)}{1 - |z|^2} dV(z) \\ & \leq C \int_B |(h \circ \rho_\lambda)(w) - h(\lambda)|^p \frac{\phi^p(|w|)}{1 - |w|^2} dV(w). \end{aligned} \quad (8)$$

Since $\forall a \in B$,

$$|f(a)|^p \leq \frac{C}{(1 - |a|)^{m+1}} \int_B |f(z)|^p dV(z).$$

Let $f_r(z) = f(rz)$ for $r \in (0, 1)$, then $\forall \zeta \in \partial B$,

$$|f(r\zeta)|^p \leq C \int_{D(0, r)} |f(z)|^p dV(z).$$

By the Taylor expansion of $f \in H(B)$, we have

$$\int_{\partial B} f(r\zeta) \bar{\zeta}^\alpha d\sigma(\zeta) = \frac{(D^\alpha f)(0)}{\alpha!} \omega_\alpha r^{|\alpha|},$$

where $\omega_\alpha = \int_{\partial B} |\zeta^\alpha|^2 d\sigma(\zeta) = \frac{(m-1)\alpha!}{(m+|\alpha|-1)!}$. Taking $\alpha = (0, \dots, 1, \dots, 0)$, the k th coordinate is 1, and the rest are 0,

$$\left| \frac{\partial f}{\partial z_k}(0) \right|^p \leq C \sup_{\zeta \in \partial B} |f(r\zeta)|^p \leq C \int_{D(0,r)} |f(z)|^p dV(z) \quad (k = 1, \dots, m).$$

By the elementary inequality, when $a > 0$, $b > 0$,

$$(a+b)^p \leq \begin{cases} a^p + b^p, & 0 < p < 1, \\ 2^{p-1}(a^p + b^p), & p \geq 1, \end{cases}$$

we have

$$|\nabla f(0)|^p \leq C \int_{D(0,r)} |f(z)|^p dV(z).$$

Let $F = h \circ \rho_\lambda - \hat{h}_{D(\lambda,r)}$, then $(1 - |\lambda|^2)|\nabla h(\lambda)| \leq |\nabla F(0)|$. Replace f by F in the above inequality, and change the variable w by $\tau = \rho_\lambda(w)$, we obtain

$$\begin{aligned} ((1 - |\lambda|^2)|\nabla h(\lambda)|)^p &\leq |\nabla F(0)|^p \\ &\leq C \int_{D(0,r)} |h \circ \rho_\lambda(w) - \hat{h}_{D(\lambda,r)}|^p dV(w) \\ &\leq C \int_{D(\lambda,r)} |h(\tau) - \hat{h}_{D(\lambda,r)}|^p \frac{(1 - |\lambda|^2)^{m+1}}{|1 - \tau\bar{\lambda}|^{2m+2}} dV(\tau) \\ &\leq \frac{C}{V_\phi^p(D(\lambda, r))} \int_{D(\lambda,r)} |h(\tau) - \hat{h}_{D(\lambda,r)}|^p \frac{\phi^p(|\tau|)}{1 - |\tau|^2} dV(\tau) \\ &\leq C \int_B |(h \circ \rho_\lambda)(w) - h(\lambda)|^p \frac{\phi^p(|w|)}{1 - |w|^2} dV(w). \end{aligned}$$

The above inequalities come from (8). This implies $\sup_{\lambda \in B} \{(1 - |\lambda|^2)|\nabla h(\lambda)|\} < \infty$, that is $h \in \mathcal{B}$. \square

Lemma 5. [9] Let $w \in B$ and $k_w^{\alpha,m}$ be the weighted Bergman reproducing kernel. Then there exist $C_j > 0$ ($j = 1, 2, 3, 4$) such that

$$C_1 \leq (1 - |w|^2)^{\frac{m}{2}} \psi(|w|) \|k_w^{\alpha,m}\|_\phi \leq C_2,$$

$$C_3 \leq (1 - |w|^2)^{\frac{m}{2}} \phi(|w|) \|k_w^{\alpha,m}\|_\psi \leq C_4.$$

Lemma 6. Suppose $2b - 2\alpha < 2\beta < 4a - 2b - \alpha - m + 1$. Then

$$\begin{aligned} I &= \int_B \beta(z, w)^n |k_w^{\alpha,m}(z)| (1 - |z|^2)^{2\beta} dV_\psi(z) \\ &\leq C (1 - |w|^2)^{2\beta-\alpha} \psi^2(|w|), \quad w \in B. \end{aligned}$$

Proof. Since $2b - 2\alpha < 2\beta < 4a - 2b - \alpha - m + 1$, we can choose $\eta < 0$ such that $t = 2(\beta + \alpha - b) - 1 + \eta > -1$, $c = 2\beta + \alpha - 4a + 2b - \eta + m - 1 < 0$. By explicit formula for the Bergman metric β we can find a constant $C > 0$ satisfying

$$\beta(0, u)^n \leq C(1 - |u|^2)^\eta, \quad u \in B.$$

Since $\phi(t)/(1 - t^2)^a$ decreases and $\phi(t)/(1 - t^2)^b$ increases, we have

$$C_1 \frac{(1 - |u|^2)^{2b} \phi^2(|w|)}{|1 - u\bar{w}|^{4a}} \leq \phi^2(|\rho_w(u)|) \leq C_2 \frac{(1 - |u|^2)^{2a} \phi^2(|w|)}{|1 - u\bar{w}|^{4b}}.$$

In the following integral, let $z = \rho_w(u)$, using the identity

$$(1 - u\bar{w})(1 - \rho_w(u)\bar{w}) = 1 - |w|^2,$$

we find

$$\begin{aligned} I &= \int_B \beta(z, w)^n |k_w^{\alpha, m}(z)| \frac{(1 - |z|^2)^{2(\beta + \alpha) - 1}}{\phi^2(|z|)} dV(z) \\ &= \int_B \beta(0, u)^n \left| \frac{1 - u\bar{w}}{1 - |w|^2} \right|^{\alpha + m} \left(\frac{(1 - |w|^2)(1 - |u|^2)}{|1 - u\bar{w}|^2} \right)^{2(\beta + \alpha) - 1} \\ &\quad \times \frac{(1 - |w|^2)^{m+1}}{\phi^2(|\rho_w(u)|) |1 - u\bar{w}|^{2m+2}} dV(u) \\ &= (1 - |w|^2)^{\alpha + 2\beta} \int_B \beta(0, u)^n \frac{(1 - |u|^2)^{2(\beta + \alpha) - 1}}{|1 - u\bar{w}|^{4(\beta + \alpha) - 2 - \alpha - m + 2m + 2} \phi^2(|\rho_w(u)|)} dV(u) \\ &\leq C(1 - |w|^2)^{\alpha + 2\beta} \frac{1}{\phi^2(|w|)} \int_B \frac{(1 - |u|^2)^{2(\beta + \alpha) - 2b - \eta - 1}}{|1 - u\bar{w}|^{4\beta + 3\alpha + m - 4a}} dV(u) \\ &\leq C(1 - |w|^2)^{2\beta - \alpha} \psi^2(|w|), \quad w \in B. \end{aligned}$$

The last inequality is true because of Lemma 2 for $t = 2(\beta + \alpha - b) - 1 + \eta$, $c = 2\beta + \alpha - 4a + 2b - \eta + m - 1$, $2 + t + c = 4\beta + 3\alpha + m - 4a$. \square

Lemma 7. Suppose $-\alpha < 2\beta < 1 - m$, then

$$\begin{aligned} J &= \int_B \beta(z, w)^n |k_w^{\alpha, m}(z)| (1 - |w|^2)^{\alpha + 2\beta - 1} dV(w) \\ &\leq C(1 - |z|^2)^{2\beta}. \end{aligned}$$

Proof. Since $-\alpha < 2\beta < 1 - m$, we can choose $\eta < 0$ such that $\alpha + 2\beta - 1 + \eta > -1$, $2\beta - \eta + m - 1 < 0$, and so we can find a constant C satisfying

$$\beta(0, u)^n \leq C(1 - |u|^2)^\eta, \quad u \in B,$$

let $w = \rho_z(u)$, we have

$$\begin{aligned}
J &= \int_B \beta(0, u)^n \left| \frac{1 - z\bar{u}}{1 - |z|^2} \right|^{\alpha+m} \left(\frac{(1 - |z|^2)(1 - |u|^2)}{|1 - z\bar{u}|^2} \right)^{\alpha+2\beta-1} \frac{(1 - |z|^2)^{m+1}}{|1 - z\bar{u}|^{2m+2}} dV(u) \\
&= (1 - |z|^2)^{2\beta} \int_B \beta(0, u)^n \frac{(1 - |u|^2)^{\alpha+2\beta-1}}{|1 - z\bar{u}|^{\alpha+4\beta+m}} dV(u) \\
&\leq C(1 - |z|^2)^{2\beta} \int_B \frac{(1 - |u|^2)^{\alpha+2\beta+\eta-1}}{|1 - z\bar{u}|^{\alpha+4\beta+m}} dV(u).
\end{aligned}$$

In Lemma 2, take $t = \alpha + 2\beta + \eta - 1$, $c = 2\beta - \eta + m - 1$, $2 + t + c = \alpha + 4\beta + m$, hence $J \leq C(1 - |z|^2)^{2\beta}$. \square

Lemma 8.

$$\|C_{\bar{h}}^n k_z^{\alpha, m}\|_{\phi}^2 \geq C \|k_z^{\alpha, m}\|_{\phi}^2 \int_B |(h \circ \rho_z)(u) - h(z)|^{2n} (1 - |u|^2)^{\eta-1} dV(u),$$

where $\eta = 2(\alpha + b + 1) - 1 > 0$.

Proof. By Lemma 5 and the change-of-variable formula, we obtain

$$\begin{aligned}
&\|C_{\bar{h}}^n k_z^{\alpha, m}\|_{\phi}^2 \\
&= \int_B |C_{\bar{h}}^n k_z^{\alpha, m}(w)|^2 dV_{\phi}(w) \\
&= \int_B |h(z) - h(w)|^{2n} |k_z^{\alpha, m}(w)|^2 \frac{\phi^2(|w|)}{1 - |w|^2} dV(w) \\
&= \int_B |(h \circ \rho_z)(u) - h(z)|^{2n} \frac{\phi^2(|\rho_z(u)|)(1 - |z|^2)^{m+1}}{|1 - z\rho_z(u)|^{2\alpha+2m}(1 - |\rho_z(u)|^2)|1 - z\bar{u}|^{2m+2}} dV(u) \\
&= \int_B |(h \circ \rho_z)(u) - h(z)|^{2n} \frac{(1 - z\bar{u})^{2\alpha+2m}|1 - z\bar{u}|^2(1 - |z|^2)^{m+1}\phi^2(|\rho_z(u)|)}{(1 - |z|^2)^{2\alpha+2m}(1 - |z|^2)(1 - |u|^2)|1 - z\bar{u}|^{2m+2}} dV(u) \\
&= \int_B |(h \circ \rho_z)(u) - h(z)|^{2n} (1 - |z|^2)^{-2\alpha-m} \frac{\phi^2(|\rho_z(u)|)}{(1 - |u|^2)|1 - z\bar{u}|^{-2\alpha}} dV(u) \\
&\geq C(1 - |z|^2)^{-2\alpha-m} \phi^2(|z|) \int_B |(h \circ \rho_z)(u) - h(z)|^{2n} \frac{(1 - |u|^2)^{-1}(1 - |u|^2)^{2b}}{|1 - z\bar{u}|^{-2\alpha}|1 - z\bar{u}|^{4a}} dV(u) \\
&\geq C \|k_z^{\alpha, m}\|_{\phi}^2 \int_B |(h \circ \rho_z)(u) - h(z)|^{2n} (1 - |u|^2)^{2(\alpha+b)} dV(u) \\
&= C \|k_z^{\alpha, m}\|_{\phi}^2 \int_B |(h \circ \rho_z)(u) - h(z)|^{2n} (1 - |u|^2)^{\eta-1} dV(u). \quad \square
\end{aligned}$$

3. Boundedness for iterated commutators

Before we prove our result, recall the following definition, for some $\alpha > b$, let $\psi(t) = \frac{(1-t^2)^\alpha}{\phi(t)}$, then $\{\phi, \psi\}$ is called a normal pair. We can now prove the main result of this paper.

Theorem 9. Suppose $h \in H(B)$. Then C_h^n is bounded on $L^2(\phi)$ if and only if $h \in \mathcal{B}$.

Proof. Given $m \in N$, we can choose positive real numbers a and b , $a < b$ such that

$$m < 4a - 2b + 1,$$

then take $\alpha: \alpha > \max\{2b, m - 1\}$. We first show that $h \in \mathcal{B}$ assuming that C_h^n is bounded on $L^2(\phi)$. If C_h^n is bounded on $L^2(\phi)$, then by Lemma 8, we obtain

$$\|C_h^n\|_\phi \geq \frac{\|C_h^n k_z^{\alpha, m}\|_\phi}{\|k_z^{\alpha, m}\|_\phi} \geq C \left\{ \int_B |(h \circ \rho_z)(u) - h(z)|^{2n} (1 - |u|^2)^{\eta-1} dV(u) \right\}^{1/2},$$

where $\eta = 2(\alpha + b + 1) - 1$. Using Lemma 4, we have $h \in \mathcal{B}$.

We now finish the proof by assuming that h is in the Bloch space and proving that C_h^n is bounded on $L^2(\phi)$. Let $h \in \mathcal{B}$, take

$$\beta: -\alpha < 2\beta < 4a - 2b - \alpha - m + 1,$$

then the conditions of Lemmas 6 and 7 hold. By Hölder's inequality, Lemmas 1 and 6, we have

$$\begin{aligned} & |C_h^n f(w)|^2 \\ & \leq C \left(\int_B \beta(z, w)^n |k_w^{\alpha, m}(z)| (1 - |z|^2)^{\alpha-1} |f(z)| dV(z) \right)^2 \\ & = C \left(\int_B \beta(z, w)^n |k_w^{\alpha, m}(z)| \frac{\phi(|z|)\psi(|z|)|f(z)|}{1 - |z|^2} dV(z) \right)^2 \\ & \leq C \int_B \beta(z, w)^n |k_w^{\alpha, m}(z)| |f(z)|^2 (1 - |z|^2)^{-2\beta} dV_\phi(z) \\ & \quad \times \int_B \beta(z, w)^n |k_w^{\alpha, m}(z)| (1 - |z|^2)^{2\beta} dV_\psi(z) \\ & \leq C \int_B \beta(z, w)^n |k_w^{\alpha, m}(z)| |f(z)|^2 (1 - |z|^2)^{-2\beta} (1 - |w|^2)^{2\beta-\alpha} \psi^2(|w|) dV_\phi(z). \end{aligned}$$

Hence from Fubini's theorem and Lemma 7, it follows that

$$\begin{aligned} \|C_h^n f\|_\phi^2 &= \int_B |C_h^n f(w)|^2 dV_\phi(w) \\ &\leq C \int_B \left(\int_B \beta(z, w)^n |k_w^{\alpha, m}(z)| (1 - |w|^2)^{2\beta-\alpha} \psi^2(|w|) dV_\phi(w) \right) \\ &\quad \times |f(z)|^2 (1 - |z|^2)^{-2\beta} dV_\phi(z) \end{aligned}$$

$$\begin{aligned}
&= C \int_B \left(\int_B \beta(z, w)^n |k_w^{\alpha, m}(z)| (1 - |w|^2)^{2\beta + \alpha - 1} dV(w) \right) \\
&\quad \times |f(z)|^2 (1 - |z|^2)^{-2\beta} dV_\phi(z) \\
&\leq C \int_B (1 - |z|^2)^{2\beta} |f(z)|^2 (1 - |z|^2)^{-2\beta} dV_\phi(z) = C \|f\|_\phi^2,
\end{aligned}$$

so

$$\|C_h^n\|_\phi \leq C,$$

and the proof is complete. \square

Remark. When $\beta \geq 0$, Fan–Wu’s sufficient condition (Lemma 3.1 in [6]) for a general measurable symbol $b = (b_1, b_2, \dots, b_n)$ is again valid with $d\mu_\alpha$ replaced by dV_ϕ . In fact, the proof of the ‘if’ part of Theorem 9 of the paper under review again applies to this general case.

Acknowledgments

The first author thanks Professors Yan Shaozong and Chen Xiaoman for their encouragement and help while visiting Fudan University. The authors also appreciate the referee(s) comments and suggestions which improved significantly the manuscript.

References

- [1] G. Ren, J. Shi, Bergman type operator on mixed norm spaces with applications, *Chinese Ann. Math. Ser. B* 18 (3) (1997) 265–276, MR 1480002 (98k:32006).
- [2] X. Zhang, J. Xiao, Z. Hu, The multipliers between the mixed norm spaces in C^n , *J. Math. Anal. Appl.* 311 (2) (2005) 664–674, MR 2168425 (2006g:46044).
- [3] J. Arazy, S.D. Fisher, S. Janson, J. Peetre, Membership of Hankel operators on the ball in unitary ideals, *J. London Math. Soc.* (2) 43 (3) (1991) 485–508, MR 1113389 (93c:47030).
- [4] D. Békollé, C.A. Berger, L.A. Coburn, K.H. Zhu, BMO in the Bergman metric on bounded symmetric domains, *J. Funct. Anal.* 93 (2) (1990) 310–350, MR 1073289 (91j:32034).
- [5] K. Zhu, BMO and Hankel operators on Bergman spaces, *Pacific J. Math.* 155 (2) (1992) 377–395, MR 1178032 (93g:47033).
- [6] D. Fan, Z. Wu, Norm estimates for iterated commutators on the Bergman spaces of the unit ball, *Amer. J. Math.* 117 (2) (1995) 523–543, MR 1323687 (96b:47034).
- [7] R.M. Timoney, Bloch functions in several complex variables. I, *Bull. London Math. Soc.* 12 (4) (1980) 241–267, MR 0576974 (83b:32004).
- [8] W. Rudin, *Function Theory in the Unit Ball of C^n* , Grundlehren Math. Wiss. (Fundamental Principles of Mathematical Science), vol. 241, Springer-Verlag, New York, 1980, pp. xiii+436, MR 0601594 (82i:32002).
- [9] H. Tan, Weighted Bergman spaces and Carleson measures on the unit ball of C^n , *Anal. Math.* 26 (2) (2000) 119–132, MR 1773351 (2002e:32008).